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Class - X

SOCIAL SCIENCE

Time : 3 hours Maximum Marks : 80

Total No. of Pages : 7

Instructions :
The question paper has 36 questions in all. All questions are compulsory.
Marks are indicated against each question.

This question paper consists of two parts i.e. Part-I and Part-II. Part-I of this question paper
contains Multiple Choice Questions (MCQs) from serial number 1 to 16 of 1 mark each.
These sixteen questions of Part-I are to be answered on a separate sheet provided. This part
has to be completed in first 30 minutes only and the answer sheet must be handed over to
the invigilator before starting Part-II.

In Part-II of the question paper, there are 20 questions from serial no. 17 to 36. These questions
are to be attempted in 2 hours and 30 minutes. This part should be attempted only after the
stipulated time given for Part-I.

Questions from serial number 17 to 31 are 3 marks questions. Answer of these questions
should not exceed 80 words each.

Questions from serial number 32 to 35 are 4 marks questions. Answer of these questions
should not exceed 100 words each.

Question number 36 is a map question of 3 marks from Geography only. After completion,
attach the map inside your answer book.

An additional 15 minutes time has been allotted to read this question paper only.




PART -1

In which of the following years global agricultural economy had taken shape?

(a) By 1870 (b) By 1888 (c) By 1892 (d) By 1890
OR

When was the first cotton mill established in Bombay?

(a) 1855 (b) 1854 (c) 1856 (d) 1853
OR

When was the Bombay Improvement Trust established?

(a) 1861 (b) 1898 (c) 1899 (d) 1862

Which one of the following was experienced during great depression of 1929?
(a) Increase in production and income
(b) Increase in employment and trade
(c) Decrease in production and employment
(d) All the above
OR

Which one of the following European managing agencies did not control Indian
Industries ?

(a) Bird Heiglers & Company

(b) Andrew Yule

() Indian Industrial and Commerce Congress
(

d) Jardine skinner and company
OR
Who among the following developed the principal of a Garden city?
(a) Ebenezer Howard (b) Charles Bondt
() Josheph Mathew (d) Charles Wood

The art of beautiful and stylish writing is known as -
(a) Vellum (b) Calligraphy
(c) Lithography (d) Platen

OR
Who is the author of Telugu novel Rajasekhara Caritamu written in 1878?
(a) O Chandu Menon (b) Kandukuru Virasalingam
(c) Nare Sadashive Risbud (d) Baba Padmanji

Which one among the following is an autobiography of Rashsundari Debi ?
(a) Amar Jiban (b) Amar Jyoti
(c) Amar Jawan (d) Amar Zindagi

OR
Who among the following shows the darker side of colonial occupation?
(a) Charles Dickens (b) Joseph Conrad
(c) Thomas Hardy (d) Rudyard Kipling
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Which cold desert is relatively isolated from the rest of the country?
(a) Leh (b) Kargil (c) Ladakh (d) Dras

Which species of fauna are found in an area separated by natural or geographical
barriers ?
(a) Rare (b)  Extinct (c) Vulnerable (d) Endemic

In which one of the following states polar pani is considered the purest form of natural
water?

(a) Gujarat (b) Rajasthan

() Madhya Pradesh (d) Chhattisgarh

Which one of following rights has led to fragmentation of land holding size ?
(a) Right to succession (b) Right to information
(c) Right to inheritance (d) Right to land ceiling

What is the percentage of French speaking in Brussels?
(@) 40 (b) 60 () 20 (d) 80

In which form of government power is shared between two or more political parties?
(a) Community govt. (b) Bicameral
(c) Federal govt. (d) Coalition

Which one of the following countries has not adopted the holding together federation?
(a) India (b) Spain (c) Belgium (d) Japan

A man or a woman who believes in equal rights & opportunities for women is a -
(a) Communist (b)  Socialist (c) Feminist (d) Communalist

Which one of the following organisation has prepared Human Development Report?
(a) World Bank (b) IMF (c) UNDP (d) UNO

Which one of following is not a feature of developing country?
(a) Agriculture as the major occupation

(b) High Technological development

(c) Mass poverty

(d) Mass illiteracy

When more people are engaged in a work than required what does it indicate to-
(a) Unemployment (b) Over employment
(c) Disguised unemployment (d) Surplus employment

Which one of the following sectors provide us raw materials for Industry?

(a) Agricultural sector (b) Primary sector
(c) Tertiary sector (d) Secondary sector
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PART -1I

Nineteenth century indenture has been described as a new system of slavery. Explain

any three reasons. 3x1=3

OR
Why did Indian Industrialists begin to shift from yarn to cloth production? Give 3 reasons.

3x1=3

OR

Why was the underground railway criticised by many people on different grounds?
Explain any 3 reasons. 3x1=3

How was the increased demand for books fulfilled by the book sellers? Mention any 3

points. 3x1=3

OR

Charles Dickens wrote about the terrible effects of industrialisation on people’s lives

and characters. Mention any 3 points. 3x1=3

How had the earliest printing technology developed in the world? Give any 3 examples.

3x1=3

OR

Why did Chandu menan decide to write a novel in Malyalam instead of translating the
English novel?

3

What were the three causes of Erasmus’s anxiety about printing? 3x1=3

OR
Why were many people worried about the effects of the novels on readers? Mention

any three reasons. 3x1=3

Indiscriminate use of resources has led to numerous problems. Justify the statement

with any three suitable points. 3x1=3

Mention any three measures taken by the governments for protection of wild life. ~ 3x1=3

‘Scarcity of water is threat to life’. Mention any 3 points to support this statement. 3x1=3

Differentiate between horizontal and vertical power sharing. Give 3 points each.

1%2+12=3

“Politics and social divisions must not be allowed to mix”. Support your answer with

three arguments. 3x1=3
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Social Divisions do affect politics. Give example of 2 such countries where social divisions
led to disintegration of a nation.

“Caste plays a major role in Indian politics”. Explain.

What is meant by economic development ? Write the two basis of measuring the
economic development of a country. 1+2=3

Why are averages being used for comparison of development of countries and what
are the limitations of this criterion? 1+2=3

Service sector in India employs two types of people. Explain by giving suitable examples.
3x1=3

Explain how does public sector contribute to the economic development of a nation.
Give any 3 examples. 3x1=3

Explain how could British Indian government fulfill the demand of British industry
from western Punjab. 4x1=4

OR
Explain any 4 ways that helped the British manufacturers to take over the Indian market21 =4
X —
OR

Explain why a number of films were about the life of migrants in the Bombay film
industry? Name 2 movies whose songs became very popular. 3+1=4

‘Agriculture has a great contribution to Indian economy. Describe any four points to
justify it.

Describe the main provisions of 1992 constitutional amendment which made the third
tier of government more powerful and effective.

Explain four features of organised sector.
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Three factors with serial number 1 to 3 are marked on the given political outline map of
India. Identify these features with the help of the following information and correct
names on the line marked in the map. 3x1=3

1.  Soil Type
2. Area of protected forests
3. Major Producer state of maize
OR
Locate and label the following items with the appropriate symbols on the same map.
1.  Manas Tiger Reserve
Hirakud Dam

Largest producing state of coffee.

Note : The following question is for the visual impaired candidates only in lieu of
Q. No. 36.

36.1 Where is Manas Tiger Reserve ?

36.2 Name the dam built on River Mahanadi
36.3 Name the largest producer state of coffee.
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